Y315 U118EINER

SBMRARF—A

=inald

(AEBEMEERIS.

B BENLDORSBICEARLTIESU,

J=EL SF—ATERZE > THRBR> TS,

RH»B%
&Fx (KE)

1B i ¥Ex31HF28248 (B) FIZIEE 9 00
25 B BBIER _
ISNF— BF EHFET KIZ BWU KERU—-A X%
qF EHFET EE KST KB SkEP=
BRIEIRE] (B BANRT Y RR—IURE « SZTNNRT v RR—URAIICET B,
AeidEoe—1—-—6—5—6—1—06
52 0 ft MHEGEERIOF-—AIBEBOI-_DJ2—AZ5AL, TO
AT 14V )USBEF—-ADRENTOICEET D,
s MmE 30008
(EiE AJ—F BI—F
BT g+
EZHEH < REY =Y | BB <~ REY =¥
1 o930 — KIBRU—LA 18- 0O S FEPR
' ELW 22 - 0O KST
20 ¢ 2 0 1F51%2 '55- 2’ 8 [To
— ELW 6 - 6 KST
BF g+
K= < KERU-A] EFf &R ~ SFEPER| BH |
5 1035 8 - 5 EiEE] 4 -19 BEE]
14 - 6 T0O 4 - 32 T0O
22 - 10 B 6 - 6 EZOH
_ BF g+
=110 <~ EmO% [ =R KST B&8% | BY |
3 1140 6 - 9 KSZ 14 - 3 KR
16 — 12 KIERU =1 12 - 5 S ~EPR
9 o5 g ¥rIFo 1M "4 10 P70
17 - 10 KBRU—A 14 — 11 S ~EPSR
B ZF
NEP x KT 51 NEP x =R &1 |
4 | 1300 - EL g - S KST
' EHZOH EZOH
O 1 20 TO 20 6 > 115 TO |
- Ea0% 10 - 8 Ea0B
BF g+
ANBRU—/A x 2L = |[SFrEPE x KST =Y
5 | 1408 8 - 15 i NCa 10 - 24 xg
' 21 - 14 K=— 6 - 22 =
56 7 o5 GO 5190 "43_76’ 4 [T0O
20 - 14 KT 21 - 2 N
X =Y X ==Y
6 ~ ~
[ B ] TO [ B ] TO
FESE OB —OEEETHKN—ILEBNDENEIDICLTIZEE0),



